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&RXUVH�3UHUHTXLVLWH��3RZHU�6\VWHP�/DERUDWRU\

&RXUVH�2EMHFWLYHV�

�� 7R�DQDO\]H�YDULRXV�IDXOWV�LQ�SRZHU�V\VWHP�
�� 7R�FDUU\�RXW WKH�ORDG�IORZ�DQDO\VLV�RI�D�SRZHU�V\VWHP�
�� 7R�FDUU\�RXW WKH�WUDQVLHQW�6WDELOLW\�6WXGLHV�
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�� )DXOW�$QDO\VLV�,

L� /*�)DXOW
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�� )DXOW�$QDO\VLV�,,

L� //*�)DXOW
LL� ///*�)DXOW

�� *DXVV�6HLGDO�ORDG�IORZ�DQDO\VLV�XVLQJ�0$7/$%�6RIWZDUH
�� 1HZWRQ�5DSKVRQ�PHWKRG�RI�ORDG�IORZ�DQDO\VLV�XVLQJ�0$7/$%�6RIWZDUH�

�� )RUPDWLRQ�RI�<�EXV�PDWUL[�E\�LQVSHFWLRQ���DQDO\WLFDO�PHWKRG�XVLQJ�0$7/$%�6RIWZDUH�

�� )DVW�GHFRXSOHG�ORDG�IORZ�DQDO\VLV�XVLQJ�0$7/$%�6RIWZDUH�

�� /RDG�)RUHFDVWLQJ�DQG�8QLW�&RPPLWPHQW�
�� 7UDQVLHQW�6WDELOLW\�6WXGLHV�

&RXUVH�2XWFRPH�

$W�WKH�HQG�RI�WKH�FRXUVH��VWXGHQWV�ZLOO�DEOH�WR

�� $QDO\]H�WKH�YDULRXV�IDXOWV�LQ�SRZHU�V\VWHP�
�� 2EWDLQ WKH�<�EXV�DQG�=�EXV�PDWUL[�XVLQJ�0$7/$%�VRIWZDUH�
�� &DUU\RXW WKH�YDULRXV�ORDG�IORZ�DQDO\VLV�XVLQJ�0$7/$%�VRIWZDUH�
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